CHEM-C1230 Principles of Physical Chemistry 2021

Some questions in the exercises of chapters 4 + 5



Chapter 4

e Question 1

* For the overall reaction:

D (g) + Z02(g) — 2NO»(g), AHZ = 66.4k]
2NO(g) — MNi(g)+ 95 (),  AHZ=-180.4kJ

2NO(g) + O2(g) — 2NOs(g),
« AH = AH,+ AHp

 Question 5.
e N2 +% 02 > NO

* AH; (NO, g) = AH;(No, g, T = 298.15K) + AC, AT



Chapter 5

* Thermo - Problem 5.32
* Part A
e T=298 K: (n and m are coefficients)

ASY = Z nS"(products) — Z mS" (reactants)

* At T =359 K:
* Take S5, from part A.
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Chapter 5

e Thermo - Problem 5.32
e PartB
e T=298K:
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* At T =359 K:
 Take HR from part A.

AHE(T) = AHS(T = 298.15K) + f
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Chapter 5

* Thermo - Problem 5.32
* Part C.
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* Part D.
AS = AS + AS
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